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> dsolve({diff (x(1), 1, 1) =x() +5in(0), x(0) =0, D(x) (0) =0}, x(¢))
i x(t) =0 (1)
> plot(rhs(%), t=0..500)
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> dsolve({diff (x(1), 1, 1) =x(¢) +sin(0.2-7), x(0) =0, D(x) (0) =0}, x(¢) )
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(> plot(rhs(%), =0..500)
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=> dsolve( {diff (x(1), t, t) (t) +sin(0.5-¢), x(0) (x) 0}, x(1))
) ©)
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x(t) =
> plot(rhs(%), t=0..500)
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=> dsolve({diff (x(t),t,t) =-x(¢) +sin(0.9-¢),x(0) =0, D(x) (0) =0}, x(1))
100 sin(ﬂ)
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> plot(rhs(%), t=0..500)



()

) (0) =0}, x(¢))
t

=0,D(x
cos(t)
2

[a)
=<
..,(2
= .8
(S
E Ol
S —_~
l_l ~
P
~

=

|

> dsolve( {diff (x(t),t,t) =
> plot(rhs(%),t=0..500)
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=> dsolve({diff (x(t),t,t) =-x(t) +sin(1.5-¢), x 03 X) =0}, x(1))
x(1) = 6512 o (57) (6)

> plot(rhs(%), t=0..500)
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